Name:

Subtraction Challenge

1.90-20=___  11.40-30=___

Solve the equation.

.40-30=__  12.50-20=___
.30-10=___ 13.90-50 =
40-20=___  14.50-40-
.70-40= 15. 40 - 40 =
.80-50 = 16.60- 30=___
.80-30= 17.70-30=___
.70-20+= 18.50-30=___

.70-50=___ 19.90-30=___

10.80-40= ___  20.80-30=__

© 2020 Slambo Resources



Answer Sheet

Solve the equation.

1.90-20=70
.40 -30=10
.30-10=20
.40-20=20
.70-40= 30
.80-50=30
.80 -30=50
.70-20=50
.70-50=20

10. 80 - 40 = 40

Subtraction Challenge

11.40-30=10

12.50 - 20 = 30
13.90-50 =40
14.50-40=10
15.40-40=0

16. 60 - 30= 30
17.70-30=40
18.50 - 30 = 20
19.90-30=60

20.80-30=50




